L1258 45 FE 5 258 30 5 44 598 0 3 9 4 113.01.18

| 25, 400 4,620 120 175 430 3, 009 1,000 9, 840 44,594 19,194
% -5 25, 400 4, 620 120 175 430 3,009 975 1,000 9, 840 45, 569 20, 169
t_-Hea 25, 400 4,510 120 175 3,082 1,000 9, 840 44,127 18, 727
- egan 25, 400 4,510 120 175 3, 082 329 1,000 9, 840 44, 456 19, 056
- e 25, 400 4,900 120 175 3,192 1, 000 9, 840 44, 627 19, 227
fo-ghes 25, 400 4,900 120 175 3,192 329 1,000 9, 840 44, 956 19, 556
= 25, 400 4,510 120 175 620 1,214 1,000 1,500 34, 539 9,139
L=-Eaf 25, 400 4,510 120 175 620 1,214 1, 251 1, 000 3, 000 37,290 11, 890
ERA—&F& 25, 400 3, 365 2,970 120 175 1,180 2,812 1,000 37,022 11, 622
ERA— S8 25, 400 3, 365 2,970 120 175 1,180 2,812 1,150 1, 000 38,172 12,772
FRA—S8 25, 400 3, 365 2,970 120 175 1,180 1,714 1,000 35, 924 10, 524
ERA—FaR 25, 400 3, 365 2,970 120 175 1,180 1,714 2,531 1,000 38, 455 13, 055
ERA=Z48 25, 400 3,365 2,970 120 175 1,180 658 1, 000 1,500 36, 368 10, 968
FRARMA=&£8%8 25, 400 3,365 2,970 120 175 1,180 658 2,512 1, 000 3,000 40, 380 14, 980
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toatk 228
SERB—FR 25, 400 3,300 1,230 120 175 790 2,301 1, 000 34, 316 8,916
SR BA— o 25, 400 3,300 1,230 120 175 790 2,301 1,514 1,000 35, 830 10, 4?0
2.3 & =1 25, 400 3, 300 1,230 120 175 1,180 1,714 1,000 34,119 8,719
2% BN T 25, 400 3, 300 1,230 120 175 1, 180 1,714 2, 666 1, 000 36, 785 11, 385
SHBHA =S 25, 400 3,300 1,230 120 175 1,180 298 1, 000 1,500 34, 203 8, 803
PEB=EmR 25, 400 3,300 1,230 120 175 1,180 298 3, 447 1,000 3,000 39, 150 13, 750
AR 25, 400 3,250 1,520 120 175 430 3,421 1,000 35, 316 9,916
WA — F o 25, 400 3, 250 1,520 120 175 430 3, 421 280 1, 000 35, 596 10, 196
B eF—F 8 25, 400 3, 250 1,520 120 175 430 2,854 1, 000 34,749 9,349
BAR S8 25, 400 3, 250 1,520 120 175 430 2,854 1, 052 1, 000 35, 801 10, 401
AR 25, 400 3, 250 1,520 120 175 2, 3b6 1,000 1, 500 35, 321 9,921
BAH=ZFRE 25, 400 3,250 1,520 120 175 2, 3b6 2,037 1, 000 3,000 38, 858 13, 458
%ﬁﬁ?ﬁﬁ‘& 25, 400 3,250 1,520 120 175 430 2,137 1, 000 2,583 36, 615 11, 215
EEH S8 25, 400 3, 250 1,520 120 175 430 2,137 1, 303 1,000 2,583 37, 918 12,518
258 & 25, 400 3, 250 1,520 120 175 430 1,714 1, 000 3,173 36, 782 11, 382
EX & k- X ] 25, 400 3, 250 1,520 120 175 430 1,714 1, 456 1, 000 3,173 38, 238 12, 838
E2EAH=F& 25, 400 3, 250 1,520 120 175 658 1, 000 1,500 918 34, 541 9, 141
L2EH =48R 25, 400 3, 250 1,520 120 175 658 1, 394 1, 000 3, 000 918 37, 435‘ 12,035




